pEekREL (58 4 $B81R)
T 5 28 B B = HIR T
gL AF T A%
£ H H X (G % & (1)
THITTETHSH - LR B Y S ik g e 5, 000
SMITETHSH = Bl [RTEHESERFAERREIHRE - B EMa 10, 000
THITTETHSH B B |HTERE RS M 5, 000
THITTETHSH B B |HTERE T REEARIEERE 5, 000
THTTETH12H B |E)IEFPRERANLS 0 FFad ezl 5, 000
FFITETH18H F O [EREmRKIT - BHESSHE FER RS 3, 000
THITTETH25H O [ AIEEREOSERHRS 5, 000
B | 7 1 38, 000
2O (ot FE)
X 4 _ 7 A7 _ Jt FERE
G & (1) & & (1)
! 2 10, 000 4 20, 000
B i 5 28, 000 59 248, 000
= B 0 0 0 0
Z O 0 0 0 0
S & 7 38, 000 63 268, 000




